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o & fAEE wo YvT & SN ETUVT 3 AF AR | W W WH A AT WA T W E | 9w
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T T yary A S

This question paper contains THREE sections and you have to answer all questions in the OMR answer
sheet. Section “A” Mathematics contains 50 questions of 3 marks each, Section “B” GK and “ C”

Language contain 25 questions of 2 marks each respectively. Section C is Language specific and is to
be attempted in the chosen language.

2. URSH UV H Had U el I gl YRS UVT & S & (o0 Haol Uah el 9 I3 370 s
H e el & U § WU Ar ST o 39 Toid |HT S

There is only one correct answer for each question. Darken only one bubble for each question. If you
darken more than one bubble, your answer will be treated as wrong.

3. I W AN I e (OMR answer sheet) HTeT & 3 W<l St | EEaHt s &
39 I GREdT § &g W T8l [y 7 998 i 30 3uv qieaar & arg o 72, sr=rer gEe; s
TET A |

Evaluation of OMR answer sheet will be done on computer. Be careful and ensure no unnecessary
marks on the OMR sheet and do not fold or attempt to deface the OMR answer sheet, otherwise it will
not be evaluated.

4. T HE YYT UF & 91 AT @ gut ¥ & &, T @ S giaar 7 |
Rough work must be done on the additional sheet provided in the question paper only and NOT on OMR
answer sheet.

5. 3T I HIAT AT AT EET It U9 § 27 ¥ | Ul & AT F &
Write your answers in Blue/Black ink only. Do not use pencil.

6. HoIUY R AT H, STYWH IFT T FA R IE T |
There are total 22 pages in the question paper.
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aET ‘T Ao
SECTION A — MATHEMATICS
1. dafRal 4,5, 3R 8 YHUS P R W Iold! ¢l Tle A T Fof TP 1Y FoHT URH B! & dl 4
e & sier 98 fha-1t SR T 1Y FoiTh?
(A) 78R (B) 48R (C) 6dR (D) 53R

Three clocks ring at the time intervals of 4 sec, 5 sec and 8 sec respectively. If they ring
together at 10 AM then how many times will they ring together within the time span of 4
minutes?

(A) 7times (B) 4 times (C) 6times (D) 5times

2. 49:68 F U & UIH 3fF W oG SST O A1RT, a1 T8 3; 4 B w1U?
What must be added to each term of the ratio 49:68, so that it becomes 3:47?
A 4 (B) 8 € 2 D) O

3. Tfe A BT35%, 48 BT % + 62 P SR g, dl A BT HH J1d BT
If 35% of A =34 of 48 + 62, then find the value of A.

(A) 280 (B) 240 (C) 260 (D) 250
4. USRI TH AR T 96 H aadhR 4 % I+ 3ifofd dxar & | I Ig =R fooe= oud & a=ht =i
P I 20 % T Y BI?

By selling a bed sheet for T 96 a man loses 4%. For what amount should he sell it so
as to gain 20%7?

(A)  T116 (B) ¥119.20 (C) T120 (D) Z110
5.  49gl o d g 7 9 g | IS AT &1 I & S fHa1 S 8, df 3i9d 6 91et 9 Sl |

a1 B1 31 F1d Difog|

(A) 4039 B) 38Ty (C) 36Ty (D) 3738

The average age of 4 sisters is 7 years. If the age of mother is included, the average is
increased by 6 years. Find the age of the mother.
(A) 4O0years (B) 38years (C) 36years (D) 37years

6. 3N & ITADHR TS VAT A18d & fordad] &6 84 Hick & I TS & IR 811 I
HTIATHR S P TaTs 144 MR &, T MTBR YIS B! TSTS 1 872
(A) 40HR (B) 49 HIR (C) 80w (D) 791w

Dinesh wants to buy a rectangular plot whose area is the same as that of a square plot
of side 84 m. If the length of the rectangular plot is 144 m, then find the breadth of the
rectangular plot

(A) 40m (B) 49m (C) 80m (D) 79m

7. Z 30 ufd o9 Hiex BT R 9, 6 Hiex T, 5 Hex AT 3R 3 Hiex Tex1 U@ Tg1 Wig &1 antd J1d
PIIT | |
Find the cost of digging a pit 6 m long, 5 m broad and 3 m deep at the rate of
¥ 30 perm®
(A) ¥ 2700 (B) T 3000 (C) ¥ 3500 (D) ¥ 3200
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8.

10.

2

12.

13.

14.

I e 7MeT 24 freiaiex ufad ¢ & aifa gerdrg 3R v @ dic 14 fheliAex
gfa g¢ &1 a1fd & Tedrg df g 8¢ # ar aiel die fhder g a7 HEr

(A) 266 fpareeT | (B) 38 faraliefiex

(C) 122 frarR (D) 626 fFarER

If a Machine boat travels at a speed of 24 km/hr and a Long Tail boat travels at a speed
of 14 km/hr, what would be the total distance travelled by both boats in seven hours?
(A) 266 km (B) 38 km (C) 122 km (D) 626 km

VT ST T FPATH Hed + & ar S Hd 653*47 A 11 @ fenfard g oo |

What least value should be given to * so that the number 653*47 is divisible by 11?
(A) 8 | 1 € 4 (b)) 3

fasiiar gfafes 250 fAeleliey g ot & 3R 35 IRaIR & T3l Fexy faelar & o
QNI gy i 8] Wl 2016 H 38d URAR & @RI Fel gy HI U F4T g
(A) 21.75 &reX (B) 218X (C) 22.50@keX (D) 23X

Vineeta drinks 250 ml milk every day. The rest of her family members drink a total of
twice the amount of milk that Vineeta drinks. The total quantity of milk consumed by the
family during the month of February 2016 is :-

(A) 21.75L B) 21L (C) 2250L (D) 23L

Ife 10 929 Teh 1A 1 4 AT # o Fehd & oY 5 el H aeT 1A Fa= & faw fha=
GET T FTTRIRAT BrafT?

If 10 men can do a piece of work in 4 days then how many men will be required to get
the same work done in 5 days?

A) 12 (B) 6 (C) 8 (D) 10

Tl &L V289 + V144 — V225

Simplify: V289 + V144 — /225
(A) 15 B) 17 (C) 18 (D) 14

TSk g3 36T &l IRy 560 eI Bl TAH10 HeX a8 12 TUA R ET A 9 dhr

Tl AT 4T gl 2

Side of a square garden is 560 m. What is the cost of fencing it at the rate of Rs 12 for
10 m?

(A) Rs 2500 (B) Rs 2688 (C) Rs 3000 (D) Rs 4000

feTsra T A, I o1 51 &, HTH 16 & 3R A9 27 & At ovener frgar § 2

In a division sum, if the divisor is 51, quotient is 16 and the remainder is 27 then the
dividend is

(A) 843 (B) 483 (C) 94 (D) 1393
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15.

16.

L

18.

19.

20.

21

22.

aer gfeat A 12, 15 31K 18 Qs & Aol W dordl ¢ | Ife 3 Wi 08:35 St Uah A1y
ST YEFCA ¢ of d oy Tag R @ vep @y sofr 2

Three bells ring at intervals of 12, 15 and 18 seconds respectively. If they start ringing
together at 08:35 AM then at what time will they ring together again at the earliest?

(A)  08:38 AM (B) 0840AM (C) 0841AM (D) 08:45AM

S e I 33Tl TEAT AT DT 2,4, 3,9,4,16,5,25,6,36,7,
Find the next number in the following sequence 2, 4, 3, 9, 4, 16,5, 25,6, 36,7,

(A) 8 (B) 49 (C) 37 (D) 48
WADY Simplify: 2+ —+ —==__

(A) 2.004 (B) 2.22 (C) 4.2 (D) 6.4

Teh 91 H Ush FeT Urd 31, Hrell &, Teh fdgTs ofer T7 1 g 3R AW #Arell 31 &1 S el
15 Golel 316, &1 3T H el g1 I TEIAT AT HITAT |

In a bag one-fifth of the balls are black, one-third are red and remaining are blue balls.
There are 15 dozen balls in the bag. Find the number of black balls in the bag

(A) 34 (B) 35 (C) 39 (D) 36

TP B A 2356 DI 54 F 70N HIA D o] 45 Y 07 {6271 TE1 IR B o1 H IHHT IR fdoaTl
DH YI?

A student multiplied 2356 by 45 instead of multiplying by 54. By how much was his
answer less than the correct answer?

(A) 21204 (B) 21200 (C) 20214 (D) 20200
WA 42 —23 42
10 4 5

Simplify: 4%—2%—15
3 20 7 3
(A) 52 (B) %3 © 50 (D) =
Yoreht 9 e fercrer 1 1/8" 9o el ¥ 3R gg 9 fet & faw fhde 9 g &,
i 38/ 174 Y55 oA AY § AT Yol T ol F&AT F4T gIf?

Renuka reads 1/8" pages of a book every day and she has read the book for 5 days. If
she has still 174 pages to read, the total numbers of pages is:-
(A) 464 (B) 290 (C) 446 (D) 664

3 12 14\, (7, 10 .
ZX{(?__E)T(B 16)} Wﬂﬁm”-'g
What is the value of > X (E— E)+(Z+ 1_)}
4 5 10 8 16
(A T8 (B) 48 (C)  4/10 D) 7110
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23.

24.

25.

26.

27,

28.

FSRIOT & 2/5 79T A et f3aft gl € |

How many degrees are there in 2/5 of a straight angle?
(A) 45 -(B) 80° (C) 72° (D)  90°

d°d HEAT ar -
Find the missing number

16
5[ 7[9]
2 | 3|45
(A 12 (B) 14 ©c 1 (D) 13

TF ATAAR &1 Hr a9 480 e § 3k g it e & O & g 5: 3
T T FT ATET FATT STl

(A) 13500 =37 #Hex (B) 12800 F37 Hrex
(C) 14200 T Hex (D) 11500 =Y FHreT

The perimeter of rectangular field is 480 m and the ratio between the length and breadth
is 5:3. Find the area of the rectangle.
(A) 13500 m? (B) 12800m? (C) 14200m? (D) 11500 m2

T BIET &A1 i G gefl AW 35, 36, 72 380 ¥ wfad ey 9 &7 9N 99 1

AT 8T |

Find the smallest number which when divided by 35, 36, 72 and 80 leaves a remainder 1
in each case.

(A) 4150 (B) 5140 (C) 5410 (D) 5041
10 #Hiex o 3R 8 #Aiey T2 B & UFHr A & v 20 &Y aFT 3R 10
TR i fpael ergelt i s gel?

How many tiles of 20 cm long and 10 cm wide will be required to pave a floor which is 10
m long and 8 m wide?
(A) 4000 (B) 3500 (C) 5000 (D) 4500

110 X FFT ¢ S 60 fhel#ex gfd 9¢ & Terdr g, Tl ¢ 70 Hiex oo s
TITHIH T IR e H hrgar aRg e
(A) 18.1 afyus (B) 18.03f¥vz (C) 10.8afkvzs (D) 10.6 Af¥vs

How long will a train which is 110 m long travelling at 60 km/hr take to pass through a
station whose platform is 70 m long?

(A)  18.1 seconds (B) 18.0 seconds

(C) 10.8 seconds (D) 10.6 seconds
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29.

30.

31.

32.

33.

34.

35.

UFH TFR H FH A aﬁmaﬂtaﬁlﬁﬂaﬂwas g IS grax # 360
IR § A o A e IR FoT FH H HEIT gar K |
The ratio of number of men and women in an office is 4:3. If there are 360 women in the

office, find the number of men and total employees.
(A) 480, 840 (B) 840, 480 (C) 408, 840 (D) 480, 804

IfE 12 e 3R 18 3iRA v @q &t 7 B & *ed § o 38 T F Fead &
T 4 3mear 3R 8 3R Faar @ay okl |
(A) 10 = (B) 13 fe=o (C) ofew (D) 14 =T

If 12 men or 18 women can reap a field in 7 days. In what time can 4 men and 8 women
reap the same field?

(A) 10 days (B) 13 days (C) 9days (D) 14 days
ffaf@a & & Ha a1 For @ {2

Which of the following pair of angles is supplementary?

(A)  46° and 44° (B) 113° and 67°

(C) 245°and 115° (D)  90° and 180°

Teh &of YshaR i A9 01:15 ot peree & IaTAT gicl & AR ATAaR Faig 07:30 &t Jovis
qgICl &1 5 AT Y AR foheer gefr 2

(A) 18%¢ 30 A= (B) 17 ©¢ 45 f&=1e

(C) 18®¢ 15 f@A=E (D) 17 9<¢ 15 @<

A train leaves Hyderabad at 01:15 PM on Friday and reaches Chennai at 07:30 AM on
Saturday. The duration of the journey is

(A) 18 hrs 30 min (B) 17 hrs 45 min

(C) 18 hrs 15 min (D) 17 hrs 15 min

fAFff@d & @ &l &1 Fa@ ©ler 3T §

Which of the following is the smallest fraction?
2 476
5”5 s

(A)

v~

(D)

Ul n g
(S0 i o8

B 2 (C)

T I FT 87Tl [oTaeh! oiaTs 4ab 3R i3S 6ab &

Area of a rectangle whose length is 4ab and breadth is 6ab is

(A) 24ab (B) 24ab? (C) 24a?*b? (D) 24ab*

Teh 8 ¢eh Ueh ged & 9 H ¢ forent Aafies aRfer 352 #frex § 3R amedr aRfer 396 #ex

&1 ¢ & =i fraer arie
(A) 5 #Hrex (B) 6 Hrex () 8 #ex (D) 7 #rex
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36.

37.

38.

39.

40.

41.

A race track is in the form of a circle whose inner circumference is 352 m and the outer
circumference is 396 m. The width of the track is
(A) 5m (B) 6m (C) 8m (D) m

T 27 ForaehT foReT Sams 21 #iex AR g0 YR &1 I 24 FIX § Y Fel g
aAHS T

(A)  1244.57 ge #Hex (B) 1243.57 @ #Hrex

(C) 124257 a9 HieX (D) 1241.57 @7 #Hrex

The total surface area of a cone having its slant height 21 m and diameter of its base as
24 mis

(A) 1244.57 sqm (B) 1243.57 sqgm

(C) 124257 sqm (D) 1241.57sqm

Ueh goc 1 Ueh Sial 6 JAT oars &1 & 3R I $g T4 @AM H U R &1 oo 1 Bsaw
Ad hifae

(A) 3 HAHI (B) 4dEHY (C) SHTFLHX (D) 6 FEHRT
A chord of a Circle is of length 6 cm and it is at a distance of 4 cm from the centre. Find

the radius of the circle
(A) 3cm (B) 4cm (C) 5cm (D) 6cm

gfe; fordT T &1 vah fAgTs 64 § A T&AT &7 AT ATd HITAT|

If one-third of a number is 64 then find half of the number.
(A) 96 (B) 84 (C) 86 (D) 100

&Y HEAT3T &1 1T 2490 &1 TTE Ueh TEATHT1 6.5% GEY HEAT o 8.5% & &L &, al
HEITHT &7 9T S9N | |
The sum of two numbers is 2490. If 6.5% of one number is equal to 8.5% of the other,

then find the numbers
(A) 1411, 1079 (B) 1011, 1479 (C) 1100, 1749 (D) 1010, 1947

Reret T 3 I oI 6= %% ey & FIUROT ST W g gy |
(A) 13@TeF (B) 14 @T (C) 15T (D) 16 9T
In what time will a sum of money double itself at Gji % per annum on simple interest?
(A) 13 years (B) 14 years (C) 15years (D) 16 years
wega $t 10— 23 x3+32 + 23
Simplify 10 — 2% X3+ 3-2- + 2%

1 1 4
A 25 (B) 4= ©) 13 (D) 1

|
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42.

43.

44.

45.

46.

47.

48.

49.

TS Piael H, 4320 BHET T A 2300 asfral §| ae®! 7 asiedl @1 & &1 Sgurd J1d S|
In a college, out of 4320 students, 2300 are girls. Find the ratio of number of boys to the
number of girls.

(A)  115:101 (B) 101:100  (C) 115:111 (D) 101:115

I8 DI T-AT F1d Hiford o 10, 12, 15 9 20 I fIHIRE 37 W yds UM & Avma 4 Srar g |

Find the smallest number which when divided by 10,12,15,20 leaves remainder 4 in
each case.

(A) 64 (B) 100 (C)y 75 (D) 40
3o § 3.32 fprht @R wa el arfi ot 1 98 10 Vs a1 eaf Fran 81 e B fa Jra P
(A) 3321/ AhS (B) 3320 Hiex / AFs

(C) 33.24ex/dde (D) 3300 HieX / Ths

A bullet is fired at a distance of 3.32 km away from Ajay. He hears the sound 10 seconds
later. Find the speed of the sound.

(A) 332mis (B) 3320m/s (C) 33.2m/s (D)  3300m/s
TS PR 20 Hic / A< B i T Faidl ¢ | {5l / veT § ST SR P i a1 872
(A) 72 fHH/dar (B) 8ofwdt/der (C) 75fdbHl/der (D) 78 feh / Her

A car travels at a speed of 20 m/s. What is its speed in km/h?
(A) 72 km/h (B) 80km/h (C) 75km/h (D) 78 km/h

TP AGH! A T g™ & 3/4 famm =t 3R ot g ¥ 1/2 fvdm <+t @<t | 39
2/3 feamm i+ &1 swmTa fan| 3ud ur et i+t &<t 82
(A = fodam ® Zfeagm © L feamm @) Zfedaam

A man bought % kg sugar from one shop and i— kg from another shop. He used 33kg

sugar. How much sugar is left with him?
(A) ke ® ke © ke D) kg

24

<) BT BT AT 5283759 & | U Up TBAT 2354281 §, o1 & T H o7 3ieiR 72
Sum of two numbers is 5283759. If one number is 2354281, what is the difference

between two numbers?
(A) 578193 (B 515137 (C) 575000 (D) 575197

AT 9063 H 9 BT R A F1d DI
Find the place value of 9 in the number 8063.

(A) 1000 (B) 90 (C) 900 (D) 9000

TS e B! Bdl 3MTETel 200000 B, FRH 40% T &, 30% AN § 3R 1! o= €| g
BT J1d P |

Population of a town is 200000, in which 40% are males, 30% are females and the rest
are children. Find the number of children.

(A) 70000 (B) 60000 (C) 65000 (D) 100000

8
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50.

51.

52.

93.

54.

55.

56.

U Goi Bl BT Hed T 180 8 3R 8 R BT Hed T 56 ¥ U Had & Ied 9 U Ufa &
T BT ST T iU
Cost of a dozen pen is ¥ 180 and cost of 8 pencils is ¥ 56. Find the ratio of the cost of a

pen to the cost of a pencil.
(A) 157 (B) 7:15 Cc) 11 (D) 8:15

AT @ HAT AT
SECTION B — GENERAL KNOWLEDGE

Ugell 3MEfeieh HIeiiieh Wor 1896 A H faa o =r ar
The first modern Olympic games was held in 1896 at

(A) afela Berlin (B) UHH Athens

(C) (HF Rome (D) 9\ Paris

AR & TS Eael H fohd 6T &1 A T 8§ 3T 672

Which king's name is linked to the “chakra” in the national flag of India?

(A) &HUTT Dharmapala (B)  3thaX Akbar

(C) sig drer Rajendra Chola (D) 372l Ashoka
TARRIS (SATETEIG) # ‘53T Fer” &< ¥ TS R arar @
“Kumbh mela” is held once in every at Prayagraj (Allahabad).
(A) @ °re two years (B) ura @I five years
(C) dRg 4rel twelve years (D) <©¥ ¥ ten years

fafafed O @ oF 91 9d fdads & 91y J1 g3 87

Which of the following games is associated with Wimbledon?

(A)  Hockey/gid! (B)  Foot Ball/ §e §id
(C)  Volley Ball/ aicil &fd (D)  Tennis/ A9
UoTe & IR & =0 § [y ST ST 872

Who is known as the Lion of Punjab?

(A)  Lala Lajpat Rai/ TIel <ilsUd 1A

(B)  Gopal Krishna Gokhale/ TTUTEl 80T TRGe
(C)  Bal Gangadhar Tilak/ §Tel TiTeR e
(D) W C Bannerjee/ &9 HI S0l

T IRR H G 987 3T o9 1 82

Which is the largest organ in human body?

(A) heart/fdd (B) liver/RFR (C) lungs/BWSI(D)  kidney /TG
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57.

58.

59.

60.

61.

62.

63.

64.

YR &1 AP T F {1 guy ferar Sm =nfee?
How much time should be taken to sing the National Anthem of India?
(A) 45 Seconds /45 J&g (B) 52 seconds /52 qdbe

(C) 60 Seconds / 60 dHs (D) 30 Seconds /30 HS
T B Tl BT TE0 S & ford e F 9 fooe Suesrr &1 3udi fosan Siran g2

Which of the following instruments is used to test the purity of milk?
(A)  Manometer / TR (B) Barometer/
(C) Seismometer / e (D) Lactometer/ A e

g & & fpg I’te & I 31 ST feaw w=man oirar 82

On which of the following dates is the “Armed Forces Flag Day” celebrated?

(A) 8" October /8 3fdga’ (B) 15" January /15 SI-aR]

(C) 4 December / 4 faaR (D) 7" December /7 f&HsR

U Bl TH G ©

GV EL (B) &cEeh (C) [ F UGA(D) HE A
A fruit is a ripened

(A) ovary (B) stem (C) petals (D)  none
YIRd & & HAl B 82

Who is the Defence Minister of India?

(A)  Smt. Sushma Swaraj/ Sl YA WIS

(B) Smt. Aruna Roy / it srsun g

(C)  Sri. Arun Jaitley/ &It 31501 Sieait

(D)  Smt. Nirmala Sitaraman St e HraRe=

frafefad & & & 91 srerg uférl &1 &2

Which of the following is the study of birds?

(A)  Omnithology/fTTairsit (B)  Oncology /3fi=bIciTail
(C)  Ophthalmology/ =3 fagm= (D)  Archaeology/ GRTdd

Frafafea & forg & gadt # 37 ok 3d SR I9g & g &

Which of the following day does the earth experience equal day and night?
(A) 21 June /21 (B) 23 September /23 RidsR
(C) 22 December/ 22 f&HsR (D) 25 March /25 g

FIRI" (ISRO) YA U] I (AT A1) FHal §-Idl 87

Where does ISRO develop its Launch Vehicles?

(A)  Satish Dhawan Space Centre at Sriharikota / Il a1 3fdfRef dg, off gRaprer

(B)  Vikram Sarabhai Space Centre at Thiruvananthapuram / fds%d GRS 3iafver

(C) ISRO Satellite Centre at Bangaluru /Sﬂff @'E?ﬂ?{c' I, W

(D) Defence Research and Development Organization, New Delhi /&l 3@9!!:[ 3R
fder e, =78 et

10
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65.

66.

67.

68.

69.

70.

el & 3 ged o gerd gad |

The hardest substance among the following:

(A) &RT diamond (B) IWIZC graphite
(C) =T chalk (D) &= gold

FiT O Fuer g AT § gt 88

(A) <& (B) =Hfgar (C) IHS (D) <R
Which of the following company is not associated with manufacturing of vehicles?
(A) Tata (B) Mahindra (C) Raymond (D) Toyota
i 1 O FaH F37 HFARR i &1 & -

(A) YA HTEER (B)  3Thfes HETHR

(C) Reg FAegEWR (D)  3Hedifesd HEERR

The second biggest ocean of the world is

(A)  Pacific Ocean (B)  Arctic Ocean

(C) Indian Ocean (D) Atlantic Ocean

(A) HET greld (B) FW

(C) YAHF HIST &7 gredet (D)  HAYHAFHE rorel

‘ Blue revolution ' is associated with

(A)  Aquaculture (B)  Agriculture (C)  Sericulture (D) Apiculture
FiT T AT ‘AfIAT F A/ F ATH F ST IATAT &7

(A) SRR (B) aRyOTHY (C) TR (D) #Hes

Which city is called as “Pearl City of India"?
(A)  Jaipur (B) Varanasi (C)  Tuticorin (D) Mumbai

‘aﬂﬁaﬁm'a?mﬁ'aﬁag<wl<'mﬁquémmmwammﬁ?

(A) W & IHA (B) SfaeX AT A«
(C) UH &l AW (D) 3TH | HIg Adl
Who was the first Indian to receive Nobel Prize in Physics?

(A) Sir CV Raman (B) Dr Amartya Sen
(C) SC Sekharan (D)  None of these

11
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e,

72.

73.

74.

75.

TR & T Pl Foll & 7T (FNaoig) dd &7?

Which of the following is renewable source of energy?

(A) @IgaT Coal (B) {I Sun
(C) 3rTer Diesel (D) 9T Petrol
& JE, CERICIR

Solar eclipse occurs :
(A) I TgaAr, gedr 3R g F o v Al [ 7 er §

when the moon comes in between the earth and the sun in a straight line
(B) o1& g vs Hieh Y@m A wgen AR qyer & o e ®

when the earth comes in between the moon and the sun in a straight line
(C) o« gF wa drelr Y@r A dgaAr AR gl & g A Har &

when the sun comes in between the moon and the earth in a straight line
(D) A ¥ FI & el

None of the above

Wﬁwwﬂm@mgm@wmn f&em 7 INH A &
fow 3mar

A freely suspended magnet in air always comes to rest in direction.

(A) 3R - 99 north-east (B) uf¥a#H- 3caR west-north

(C) 4ud -ufRa#A east-west (D) 3caX - Gf&IUT north-south

PR § ¥ R & @

Find the odd one out from the following:

(A) Y Mik (B) g&gr Curd (C) gcg Honey (D) 31H Mango
‘R wER q urea fFe a1
Synthetic fibers are obtained from \
(A) THEI chemicals (B) SCjute
(C) dlul plants (D) &3 sheep
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SECTION C- LANGUAGE
(Only for those attempting English Language)

Choose the appropriate option to fill in the blanks

76.  Akash is senior me.
(A) of (B) to (C) from (D)  then
77. The meaning of the phrase ‘ To bell the cat’ is
(A)  To undertake a difficult job (B) To look after the cat
(C) To chain the cat (D)  To undertake an easy job
78. Tom is very intelligent. ambition is to become an IAS officer. (supply the
correct ‘Pronoun’)
(A)  This (B) Their (C) Hehas (D) His
79.  February has the number of days of all the months. (supply the correct
‘Adjective’)
(A) fewest (B) lesser (C) least (D)  shortest
80. He opened the letter with hands. (supply the suitable’ Verb’)
(A) shiver (B)  shivers (C) isshivering (D) shivering
81.  Dr APJ Abdul Kalam was born ___ Rameshwaram in Tamil Nadu.
(choose correct “Preposition”)
(A) on (B) in (C) at (D) after
82. |tried to hit the nalil hit my thumb instead. (choose correct “Conjunction”)
(A) Dbefore (B) but (C) and (D) because

Read the following passage and answer the questions (Question 83 to 87)

Brain size and structure is not an automatic gauge of intelligence, but it can be a clue.
Birds may be small, but they have proportionally large brains compared to their overall body and
head sizes. In fact, birds' brains are similarly proportioned to primates, including apes, monkeys
and humans. Studies of brain anatomy also suggest that while the structure is different than that
of mammals' brains, birds may have a higher degree of connectivity between the sections of
their brains. This could indicate more intelligence and faster reasoning than previously believed.

We humans are used to thinking that our minds separate us from other animals. But new
studies show that animals are quite intelligent and sensitive. Animal intelligence isn't found
only in mammals. It can be found in other animals, such as birds. Although people call us
'Birdbrains' as an insult, our feathered friends can be very smart. Some can solve puzzles. For
example, Ravens can untie knots. Some birds can use tools. Some crows for example, use twigs
as spears. Some birds can even use our language. An African grey parrot named “Alex” does
more than just imitate human sounds. This parrot can name dozens of objects. It also seems to
understand the ideas of 'same,' 'different' and ‘amount.’

13
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Animals are able to feel emotion too. This ability can be painful for them as it is for
humans. For example, some baboons live in groups where the leader controls them through
fear. Low-ranking baboons can live in a constant state of stress. This stress can cause health
problems, just as it does in humans.

83. In this passage, what is being compared between humans and birds?
(A) Language (B) Inteligence (C) Work (D)  Emotion

84.  Which of the following birds could remove some knots?
(A) Crows (B) Parrots (C) Ravens (D)  Sparrows

85.  Which type of bird according to the passage, could differentiate between some words
spoken by the humans?

(A) Ravens (B) Parrots (C) Crows (D)  All of these
86. What does the author imply by ‘Birdbrains’? :

(A)  Small brain (B) Smart brain

(C)  Unique brain (D)  Emotional brain
87. Birds have more intelligence and faster reasoning due to brains

(A) big size of (B)  more connectivity in

(C) large proportion of (D) small size of

Choose the most appropriate option given against each question.

88.  Which word means nearly the same as “admire”.

(A) respect (B) approve (C) insult (D)  appreciate
89.  Which word means nearly the same as ‘Whisper'?
(A) the hair on the upper lip (B) to shout at somebody
(C) speakin alow tone (D) a drink
90. Many Princes were crowned on that day, their were beside them.
(A) Princess (B) Queen (C) Princesses (D) King
91. Ritais than Swetha.
(A)  more intelligent (B) intelligent
(C) most intelligent (D) intelligencer
92. The person who is selected for the job my classmate.
(A) his (B) him (C) is (D) were

Re-arrange the following words/groups of words to make meaningful sentences.
Choose the correct sequence in the options

93. A B C D
came to India / they / months ago / some

(A) DCBA (B) DBCA (C) DACB (D) BCDA
14
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94, A B C D
“Swachh Bharat Mission” / we / take active part in / should
(A) BDCA (B) BDAC (C) BACD (D) ABCD

Choose the appropriate optioh to fill in the blanks

95.  One who is in-charge of a museum
(A)  Superintendent (B) Warden (C) Curator (D)  Supervisor

96. A person who reads a lot of books or read regularly is called a reader.
(A)  voracious (B) bankrupt (C) wealthy (D) noteworthy
97. The gender of ‘DUKE’ is
(A)  duchess (B)  dutchies (C)  dukess (D) dame
98. Suman was not ready to participate in the competition and she illness.
(A) fained (B) fined (C) find (D) feigned
99.  She returned from vacation than | had thought.
(A)  quickest (B)  quick (C) quicker (D)  more quickly
100. Although he is rich, he is unhappy.
(A) so (B) since (C) yet (D) because

T 1 - WTNT (Fhaer Fd s # afiter 39 am=il Ffm)
i ferfaa =i & forg w8t Aadard=s ass (Reew) &1 =397 fifsm:

76. U

(A) e (B)  37a@Teier (C) & (D) I
77. W

(A) SIS (B)  3reoT (C) &Iur (D) @eTS
A o a=st & fore a |9t - F=eg (ReeT) &1 =9+ Fifod: (96 & 97)
78. fRaera

(A)  fET+arS B) ReEmasr () e (D) fe=p+arsT
79. 3uErfa

(A) 37 +309Tf (B) FM+afd () 3en+Afd (D) 3+ eIl
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80. ‘T Usg A WIFA HE 39 (fAshew) @ uhA RS
A) 9 (B) wam ©C 49 D) ¥

LY 2

81. ‘3R e H Ygwd FEl YT (fashow) 1 ad=1 RS
(A) @ (B) gmir C) % D) 3

82. 'USHAR' fFE WATH T 3ETEXT B2
(A)  egdHTE (B) dYRY (C) &R (D) wgAR

2 =2

e s=ar ¥ sma o Ry o wat & sax ffSm (e wear 83 - 87)

FIAAT Y YIS F & S g W IgA B @ &1 WHT AT 3qHT A & TS ¥
aif g8 U= RuiRa Ff & g ® @ & TF YR g7 F TwWG- g & FROT
SO A U HUHI B T YE e, FEd 3@ ve See F g@ll serE I F A
AT BIAT GST| ST AT T TWF gl qrl ot =erar g, gay ot st &, 794 off 5yeran g o
ey o FoaT gl W 99T | UF T § T I G IgAT & oy Aqey Hiedl 9Fet AT FLar o7 |
% AT ATAT a1 wT gF Sreft off ©&F awf @7 3 &, /et F At SR g v oft S o | Bt &
fore &elr g aF e g AT | o arerfEt FT ST BT S o | 3% IR AN 9519 9, W
TET § FAT-TAT T AN 6T STg A o (70 33 AT AT AT 919 § Fad o, SAfehed 378 o &7
mwmﬁ?mﬁﬁmmﬁ%ﬁmaﬁa@ﬁ%ﬁmlmﬁ?ﬁmm%ﬁm
st F forg 3 smar ar | af@d % e § 9e7 #7 Staq & 98a =241 | T60% A F q4vaw
SEEITST GTT ATAT T 9 TedT g1 @it | efie-efi gt afgy & wefim & wemaret miat gzt o S
cuil

83. ‘TSl FFEEHT T@HE FET 82

(A) AT (B) TR (C) gar (D) urf

2

84. UrATRAT & ohde oleT 3a1d 472
(A) FId (B) 313 (C) IR (D) SRg

85. UIafeRadl &I 9AET fheT & foIT grar ur?
(A) #el & forw (B) C&D
(C) w=ai & faw (D) & & for

86. fohush AHASHR H AJSH &M Siide] dgel IAT?
(A) deA & (B) domnfeal & (C) uefhal & (D) #ME &
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87.

GIH' e HT TANH A § —-meoooee
A #fes B) gitHA (C) EHA

TAF T & AT QT ¢ EFedt § & sfEa e 3+

88. {3 Hd Wold @ T QRS M. g T |
(A) T B) HIZ (C) @
89. TF=T # ¥ A AT YT ‘T’ U T YATTATT LT 872
(A)  fRrer (B) 4ge € =
90. '3dR' e HT AH §T §
(A) deTs (B) =g (C) dera
91. 'R 'YU>sE FT @A ®T g

A dR (B) 3wt C) afeasw

e aret / orss "ag % forg e o Rreredt & & s a=s w1 A= 1

Set C

(D) iR
(D) dqeT
(D)  GT§TOT
(D) =Er
(D) e
(D) Irforgs
(D) SR
(D) EHR

(D) BACD

92. S WS FS AT &

(A)  fagor B) @it (C) wdw
93.  THAT HLA AT

(A) TR (B) (C) @
94. S @t AT @Y

(A) gde (B) Hex (C) urgel
i arg g9 F forg a3t F e o o=st / =gt 71 redatag #2 | Rweat § R e
AT FT 999 HL:

A B ¢ D
95. el / I/ qHe g/ el dr Aer

(A) ABCD (8) DCBA (C) BADC

A B C D

96. eAfHd o /o7 /HIE o/ HAlY Hr

(A) BADC (B) ABCD (C) ACDB
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g g ersat &t Wt At & a1 e & R w17

97. (A) aRss (B) afRwe (C) aRse (D) aRee
98. (A) 3BT (B)  3TmIeN (C)  3TRIAT (D)  3TTeHTEIT
R o gemEt & @t ond & Ay Rewer iy At w3

99. mmw

(A) T AT (B) BR A
(C) =g G gl (D) RIS g
100. TWE IGAT
(A) glzar (B) c@«T (C) & (D) TAT
ROUGH WORK
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